V = 7/
Hi-Tech Partsg

&0 e [ £
2
¥ 2
1 i
P ¢
o
= "
. & :
uf
gy FagT, \ Py f Y RagEn
41,5 4,35 41,5 ; 455 4,95 455
2.5 285 e 35
¢ (O [0 s w
La¥) a0y fal | 2t

@ D (%]ﬁlﬁo D

Ref. 3671P Ref.3672P Ref. 3740P Ref.3741P
REF.: SCREWS QrY.
3671P M8x45 + M8x55 screws 4+4
3672P M8x55 + M8x65 screws 4+4
3740P M8x45 + M8x55 screws 4+4
3741P M8x55 + M8x65 screws 4+4

NOTE: To verify the screws, add the elevator height to the original screw (20 or 30)



V = 7/
Hi-Tech Partsg

R r Sooor TORRETA @32 / @32 RISER

Ref. 20309P

Q> Ref.20308P —

(&=

=
7,
—_

-

|0
i ()

@ v
2, = (=H
45 43
=
O O (@ o) =2
Ref. 20308P Ref. 20309P
REF.: SCREWS QTY.
20308P M8x55 screws 4
20309P M8x65 screws 4

When it comes to quality motorcycle handlebars & controls, Puig is the brand you can depend on.



https://www.motorcycleid.com/handlebars-controls.html
https://www.motorcycleid.com/puig/

